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Name
DATE
Family Jobs
My father is a construction worker. He builds houses,
schools, and many other buildings. He uses hammers, saws, b l;;.;;
3

and many other tools at work. S L

My sister is an engineer. She designs buildings and bridges.
She uses computers to make her designs.

My son is an athlete. He plays tennis. He plays in
tournaments around the world. He uses a racket and a ball.

My daughter is an artist. She draws pictures of animals and people.
She uses special pencils and paper.

1) Who is a construction worker?

A. my father
B. my daughter

C. my son

2) What does my sister do?

A. She is a construction worker.
B. She is an engineer.

C. She is an artist.

3) Who uses a saw?

A. my father
B. my sister

C. my son

4) Who uses a racket?

A. my daughter
B. my brother
C. my son
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5) Choose one person in your family and describe his or her job. What does he or she do?
What tools does he or she use at the job?
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Answers and Explanations

1)A
Core Standard: Key Ideas and Details

In paragraph 1 the passage says, "My father is a construction worker." Choice (A) is correct.

2)B
Core Standard: Key Ideas and Details

In paragraph 2 the passage says, "My sister is an engineer." Choice (B) is correct.

3)A
Core Standard: Key Ideas and Details

In paragraph 1 the passage talks about my father. It says, "He uses hammers, saws, and
many other tools." Choice (A) is correct.

4)C
Core Standard: Key Ideas and Details

In paragraph 3 the passage talks about my son. It says, "He uses a racket and a ball." Choice (C)
is correct.
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